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It is appropriate according to 9°X» 539 — TRM 5295 NRbwa

Overview

The Xn>12 cites a P12 between 2" and " concerning :12°21. According to
n"7, one may gift or sell a 79°21 to either a 73 or a °121 without restrictions.
However, °"1 maintains that one must follow the 770 literally; you may gift
only to a 73 and sell to a *731 exclusively. Therefore according to °"1 we
cannot derive X177 MOX (by other 712°2K »M0X) from the 07 of 77°m 71903
by 1921, since that 207 is necessary for the aforementioned restrictions.
However according to 1" since there are no restrictions by n1%°21; the 27
77°Om) 71Nl is teaching us that only by n1%°21 is there an 1R 2n°7; however
by all other 792X »M0°X it is MOR even X172, One of the focal points of the
NP9 between "1 n'"7 is the word (*121% M10n) "K' according to »" the "N’
is teaching us to give preference to 737 71°n1 over 212 77°O1. This seems to
put the whole 71%°% of 1X17 MK in question as M0 will ask and explain.

mooIn has a difficulty:
— 937 1) MNTPRY TPIVNN RNT NYP? 923 IINN 239D NN

It is astounding! It is difficult even according to »'9; for the P02 is

necessary to prioritize the giving to the 93 over selling it to (either a 73 or) a
>321. How can 1728 " derive from this 109 that 908N X7 means 7R37 MOK?!

N1B0IN answers:
— 3)TPRY NI20M 195975 1IN 99Y 93 KIP AN 191 NY ONOINTIT PNY 13939 Y1

And the "9 answered that certainly if the o2 would not have written
anything (concerning gifting to a 71 or selling to a >731); it would only state

the 177°21 M0°R, we would logically conclude the preference of gifting to a 7

over selling to a %721 -
— 1919 AN NIND 119N ANT XOYWH VAN

However now that the 770 wrote gifting; gift it and let him eat it and sell

it, it became necessary to write "', for -
—*o1pNnY 7998 PRY YITNY RANT RIMNIN 71D IN AN MA XY ON

' We cannot derive 7ix37 M0°X from 719°231 according to *"1 because the 7371 171 there is necessary to teach
us the specific restriction of 777312 *12171 72°n12 739; similarly according to n" the 7071 by 79°21 is not
‘extra’, it is necessary to teach us the limitation of 1317 7791 3% AN O*7PY.

* Therefore there is seemingly no purpose why the 770 writes >332 131 73%; unless we understand that it is
to teach us that only by 71%°21 is there a 7X37 n°1 however by all other 77°2X *10°X it is also 7X172 70K,

? Others add 77am.

* The p102 is coming to refute our logic that 73> 73°n1 has priority; therefore we would not know 7IX37 MOX.
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If the 70 would not have written "W' (or), [but rather >121% 71o21] I would
have thought that it is coming to teach that there is no necessity for

preference; one may choose either way, giving or selling. Therefore the 710 writes X'
to give precedence for 71°n1 over 777,

mooIn responds to an anticipated question:
—%59931 92 933 ANDYY TP

And it is also necessary for the 770 to write both 93 and 21 -
— 559951 3903 Y0IPNY NONT NPNHN 1IN 793 NIN 202 117 XY INT

For if the 70 would only write 23, I would have thought that it comes

to exclude giving to a 921; that it is not permitted -
19, 539 199912 Y0IPNY RONT N3N 7971 “NINY 5993 21N 717 ON)

And if it >921 alone would have been written I would have thought that it

is coming to exclude selling to a 93. We should gift it to the 93 and not sell it.
Selling is limited to o>21.

Summary
The 7%°21 °n°7 cannot be teaching us *1217 777017 732 7101 0°7pn°, for we

would have known this on our own. Therefore we must conclude that the
79721 2N°7 is to teach us RIT TNMON.

Thinking it over

Why did it not say just 2"2v% n°n? If 2™oy% 7101 is permitted (as it is
according to n"7), then seemingly there would be no reason to exclude
anything."'

> However, this precedence I would have known without any 109 at all; why is there a need to write any
thing? Therefore we must conclude that it is teaching us 7X37 Mo°X by other 7178 *NOR. See X"wn.

% Mmoo concluded that if the 770 would not have written anything by 77921 we would assume that it is 20
X172 and there is precedence for 137 712°n1 over (*1319) 77°n. Therefore the whole purpose of writing the
7RI N7 it to teach us that elsewhere there is an 7R3 MR (however if the 770 would have written M
then we might have thought that there is no precedence for 71’01 over 77°2», therefore the 7710 writes WX to
reinstitute this precedence). However the question is why write both 73 and 731 to teach us 7%17 710°X (and
then be required to write IX); the 777N could have written the 7%17 7n°7 by only one, either 72 or *731 and |
would derive the X177 M0°X by other 2°110°X (and it would not be necessary to write X since there will be
only one 71 for a 73 or a *731). MdDIN now explains that it is necessary to write both 73 and »731.

7 See X"wnn who interprets this to mean that if it would have said 7979 73°n1 by a 7.

¥ We would exclude 71°ni to a *121 for we should not do them any favors; we are obligated to do favors only
to a 73. However there is no cause not to sell it to a >331 (it is not different than selling it to a 7).

? See X"wnn who interprets this to mean 77" 7°n3 by a 721, See footnote # 7.

10 See x"wnmn that if only one would be written (73 or *131) we would not know X177 M0°8. We would
assume that whoever is written (73 or *121) is coming to exclude the other.

' See (P MR TRA) R"wn and R"DW.

2

TosfosnEnglish.com



